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1. Answer any seven of the following questions : 7x2=14 

(a) What gives science the nature of a "Social 
Institution" ? 

(b) Define "Hypothesis". 

(c) Define Scientific method. 

(d) Define electric intensity and electric capacity 
and give their units. 

(e) Name any four instruments which work on 
the principle of magnetic effects of electric 
current. 

(f) Define accommodation. 

(g) Define life processes. 

(h) Define nutrition. 

(i) Explain any one difference between Food 
chain and Food web. 

(j) Draw the structure of propionic acid. 
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2. Answer any three of the following questions : 3x4=12 

(a) Draw a ray diagram indicating the defects of 
myopia and hypermetropia. 

(b) Write the relation for net resistance when 'n' 
resistors of resistance 'r' are connected in 
parallel. What happens to the equivalent 
resistance when the resistors are connected 
in parallel ? (Increase or decrease) 

(c) Write a short note on vacuoles. 

(d) Write any four differences between mitosis 
and meiosis. 

(e) Write any four merits of the Modern Periodic 
Table. 

(f) State the principles of curriculum 
development and explain them in brief. 

3. Answer any four of the following questions : 4x3=12 

(a) Write a short note on "Solar System". Name 
the planets according to their distance from 
the Sun. 

(b) Draw a suitable ray diagram for 
astronomical telescope. 

(c) Name the hardest natural substance known. 
Give its application (any one). Why does 
carbon form compounds mainly by covalent 
bonding ? 

(d) How are alkenes prepared ? Explain any one 
chemical property of alkenes. 
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(e) Write a short note on endoplasmic 
reticulum. Write its two functions. 

(f) What are the modes of excretion in the 
human body ? 

(g) Give a comparative account of teacher 
centered and student centered approaches to 
teaching-learning science. 

(h) Differentiate between measurement and 
evaluation (any three differences). 

4. Answer any three of the following questions : 3x4=12 

(a) Explain the four substages of mitosis. 

(b) Differentiate between man and apes (four 
differences each). 

(c) Write a short note on "Coordinate or 
Semipolar bond". 

(d) Write a short note on extraction of copper 
from its ore. 

(e) Derive the three equations of motion. 
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